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 זהויות טריגונומטריות

 

 מס' הזהות סוג

 

 

 

 

 זהויות יסודיות

si𝑛2α + cos2α = 1 1 

sinα

cosα
= tanα 2 

cosα

sinα
= cotα 3 

tanαcotα = 1 4 

tan2α + 1 =
1

cos2α
 5 

cot2α + 1 =
1

sin2α
 6 

 

 

 השלמה לזווית ישרה

sin(90° − α) = cosα 7 

cos(90° − α) = sinα 8 

tan(90° − α) = cotα 9 

cot(90° − α) = tanα 10 

 

 השלמה לזווית שטוחה

sin(180° − α) = sinα 11 

cos(180° − α) = −cosα 12 

tan(180° − α) = −tanα 13 

cot(180° − α) = −cotα 14 

 זווית שלילית

sin(−α) = −sinα 15 

cos(−α) = cosα 16 

tan(−α) = −tanα 17 

cot(−α) = −cotα 18 

 

 360°הוספת/הורדת 

sin(α ± 360°) = sinα 19 

cos(α ± 360°) = cosα 20 

tan(α ± 360°) = tanα 21 

cot(α ± 360°) = cotα 22 
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והפרש  סכום זוויות

 זוויות 

sin(α + β) = sinαcosβ + cosαsinβ 23 

sin(α − β) = sinαcosβ − cosαsinβ 24 

cos(α + β) = cosαcosβ − sinαsinβ 25 

cos(α − β) = cosαcosβ + sinαsinβ 26 

tan(α + β) =
tanα + tanβ

1 − tanαtanβ
 

27 

tan(α − β) =
tanα − tanβ

1 + tanαtanβ
 

28 

cot(α + β) =
cotαcotβ − 1

cotα + cotβ
 

29 

cot(α − β) =
cotαcotβ + 1

cotα − cotβ
 

30 

 

 

 

 

 זווית כפולה

sin(2α) = 2sinαcosα 31 

cos(2α) = co𝑠2α − sin2α 

                 = 2cos2α − 1 

                 = 1 − 2sin2α                

32 

tan(2α) =
2tanα

1 − tan2α
 

33 

cot(2α) =
cot2α − 1

2cotα
 

34 

 

 

 

 מחצית הזווית 

si𝑛2 (
α

2
) =

1 − cosα

2
 

35 

𝑐𝑜𝑠2 (
𝛼

2
) =

1 + cosα

2
 

36 

𝑡𝑎n2 (
𝛼

2
) =

1 − cosα

1 + cosα
 

37 

𝑐𝑜𝑡2 (
𝛼

2
) =

1 + cosα

1 − cosα
 

38 

 

 

 

 סכום פונקציות 

 והפרש פונקציות 

sinα + sinβ = 2 sin (
α + β

2
) cos (

α − β

2
) 

39 

sinα − sinβ = 2 sin (
α − β

2
) cos (

α + β

2
) 

40 

cosα + cosβ = 2 cos (
α + β

2
) cos (

α − β

2
) 

41 

cosα − cosβ = −2 sin (
α − β

2
) sin (

α + β

2
) 

42 


